Our Bridge Program designed a 42 inch high single slope concrete barrier to protect some bridge columns underneath the interstate.  The design speed of this roadway is only 30 mph. The slope of the barrier face is 5.8 degrees.  The barrier the pooled fund tested with head ejection criteria is about 3 degrees.  Do we need to consider head ejection for a barrier with a slope of 5.8 degrees (and also considering the speeds are relatively low).  As a follow-up question, do you have an idea of what barrier slope face would dictate head ejection criteria for a high speed roadway?
